Tableaux des Puissances de Dix (C)

Divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (C) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 0,01 0,1 0,0001 0,001
98 9800 980 980 000 98 000
99 9900 990 990 000 99 000
46 4 600 460 460 000 46 000
69 6 900 690 690 000 69 000
100 10 000 1000 1000 000 100 000

+ 0,001 0,01 0,0001 0,1
52 52000 5200 520000 520

9 9000 900 90 000 90

7 7 000 700 70 000 70
78 78 000 7 800 780 000 780

8 8 000 800 80 000 80

+ 0,001 0,1 0,01 0,0001
11 11000 110 1100 110 000
47 47 000 470 4700 470 000
74 74 000 740 7 400 740 000
39 39000 390 3900 390 000
48 48 000 480 4 800 480 000

+ 0,001 0,1 0,0001 0,01
11 11000 110 110 000 1100
83 83 000 830 830 000 8 300
26 26 000 260 260 000 2600
25 25000 250 250000 2500
27 27 000 270 270000 2700
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